Hausaufgaben fiir Di. 26. November — Losungen

Ubungsblatt zu Lekt. 7 (1. Teil)

1. Augment bilden:

BAdmT-0 EPAamt-
Gy-o ny-
K- nK-
Ypape Eypag-
Vylive Vylouv-
¢obiow noo-
aivém nve-
&Y giy- < *g-oeyx- (o fillt weg, € + € > €1)
iKeTev® iKetev-
etkalo nkol-
omMlw omMl-
TnT® EMUTT-
iitalea) Opot-

2. Imperfekt bilden

gvpiokopev nupickopev
Aéyovtan ELEyovTo
Avopeba glodpeda
avaykalet [-ayk-] nvaykale (v)
Bain €BaAAov
ppvnokopot [-oko-| ULV OKOUNV
E\milete nAnilete
Kopilelg [-0-] gxoplec
yiyveton gylyveto

Graecumkurs // bmaucolin



